

# Ideal amenability of module extension Banach algebras

M. Eshaghi Gordji<sup>(1)</sup>, F. Habibian<sup>(2)</sup> and A. Rejali<sup>(3)</sup>

(1) Department of Mathematics, Faculty of Sciences, Semnan University, Semnan, Iran

(2),(3) Department of Mathematics, Isfahan University, Isfahan, Iran  
email:madjideg@walla.com & fhabibian@ui.ac.ir & rejali@ui.ac.ir

## Abstract

Let  $\mathcal{A}$  be a Banach algebra and let  $I$  be a closed two-sided ideal in  $\mathcal{A}$ ,  $\mathcal{A}$  is  $I$ -weakly amenable if the first cohomology group of  $\mathcal{A}$  with coefficients in the dual space  $I^*$  is zero; i.e.,  $H^1(\mathcal{A}, I^*) = \{0\}$ . Further,  $\mathcal{A}$  is ideally amenable if  $\mathcal{A}$  is  $I$ -weakly amenable for every closed two-sided ideal  $I$  in  $\mathcal{A}$ . In this paper we find the necessary and sufficient conditions for a module extension Banach algebra to be ideally amenable.

**Mathematics Subject Classification:** 46H

**Keywords:** Ideally amenable, Banach algebra, Derivation

## 1 Introduction

Let  $\mathcal{A}$  be a Banach algebra and let  $X$  be a Banach  $\mathcal{A}$ -bimodule, then  $X^*$  is a Banach  $\mathcal{A}$ -bimodule if for each  $a \in \mathcal{A}$  and  $x \in X$  and  $x^* \in X^*$  we define

$$\langle x, ax^* \rangle = \langle xa, x^* \rangle, \quad \langle x, x^*a \rangle = \langle ax, x^* \rangle.$$

In particular  $I$  is a Banach  $\mathcal{A}$ -bimodule and  $I^*$  is a dual  $\mathcal{A}$ -bimodule for every closed two-sided ideal  $I$  in  $\mathcal{A}$ . If  $X$  is a Banach  $\mathcal{A}$ -module then a derivation from  $\mathcal{A}$  into  $X$  is a continuous linear operator  $D$  if for every  $a, b \in \mathcal{A}$ ,

$$D(ab) = D(a).b + a.D(b).$$

If  $x \in X$  and we define  $\delta_x$  from  $\mathcal{A}$  into  $X$  as follows

$$\delta_x(a) = a.x - x.a \quad (a \in \mathcal{A}),$$

$\delta_x$  is a derivation. Derivations of this form are called inner derivations. A Banach algebra  $\mathcal{A}$  is amenable if every derivation from  $\mathcal{A}$  into every dual

$\mathcal{A}$ -module  $X$  is inner; i.e.  $H^1(\mathcal{A}, X^*) = \{0\}$ , where  $H^1(\mathcal{A}, X^*)$  is the first cohomology group from  $\mathcal{A}$  with coefficients in  $X^*$ . This definition was introduced by B. E. Johnson in [Jo1] (see [Ru] and [He]).  $\mathcal{A}$  is weakly amenable if, every derivation from  $\mathcal{A}$  into  $\mathcal{A}^*$  is inner (see [Jo3], [D-Gh], [Gr1], [Gr2] and [Gr3]). Bade, Curtis and Dales [B-C-D] have introduced the concept of weak amenability for commutative Banach algebras. Let  $n \in \mathbb{N}$ . A Banach algebra  $\mathcal{A}$  is called  $n$ -weakly amenable if,  $H^1(\mathcal{A}, \mathcal{A}^{(n)}) = \{0\}$ . Dales, Ghahramani and Gronbaek started the concept of  $n$ -weak amenability of Banach algebras in [D-Gh-G]. A Banach algebra  $\mathcal{A}$  is ideally amenable if  $H^1(\mathcal{A}, I^*) = \{0\}$ , for every closed two-sided ideal  $I$  in  $\mathcal{A}$ . Eshaghi-Gordji and Yazdanpanah have introduced the concept of ideal amenability of Banach algebras in [G-Y] (see [E-H] and [E-M]). Let  $\mathcal{A}$  be a Banach algebra and  $X$  be a Banach  $\mathcal{A}$ -bimodule, and let  $B_1 = \mathcal{A} \oplus X$  as a Banach space, so that

$$\|(a, x)\| = \|a\| + \|x\| \quad (a \in \mathcal{A}, x \in X).$$

Then  $B_1$  is a Banach algebra with the product

$$(a_1, x_1)(a_2, x_2) = (a_1 a_2, x_1 \cdot a_2 + a_1 \cdot x_2) .$$

$B_1$  is called a module extension Banach algebra. It is easy to show that  $B_1^* = \mathcal{A}^* \oplus X^*$ , where this sum is  $\mathcal{A}$ -bimodule  $l_\infty$ -sum. Yong Zhang in [Zh] found the necessary and sufficient conditions for a module extension Banach algebra to be  $n$ -weakly amenable ( $n \in \mathbb{N}$ ). We prove Zhang's Theorems for  $n$ -ideal amenability when  $n=1$ .

## 2 Module extension Banach algebras

Let  $\mathcal{A}$  be a Banach algebra and let  $X$  be a Banach  $\mathcal{A}$ -bimodule. It is easy to show that  $J$  is a closed ideal in  $\mathcal{A} \oplus X$ , if and only if there exist closed ideal  $I$  in  $\mathcal{A}$  and a closed  $\mathcal{A}$ -submodule  $Y$  of  $X$  such that  $J = I \oplus Y$  and that  $IX \cup XI \subseteq Y$ . We will find the necessary and sufficient conditions for a module extension Banach algebra to be ideally amenable. First we give the following Lemmas.

**Lemma 2.1.** Suppose that  $\Gamma : X \rightarrow I^*$  is a continuous  $\mathcal{A}$ -bimodule morphism. Then  $\bar{\Gamma} : \mathcal{A} \oplus X \rightarrow (I \oplus Y)^*$  defined by  $\bar{\Gamma}((a, x)) = (\Gamma(x), 0)$  is a continuous derivation. The derivation  $\bar{\Gamma}$  is inner if and only if there exists  $F \in Y^*$  such that  $aF - Fa = 0$  and  $\Gamma(x) = xF - Fx$  for  $a \in \mathcal{A}$  and  $x \in X$ .

**proof** It is straightforward to check that  $\bar{\Gamma}$  is continuous derivation. Noting that  $(\Gamma(x), 0) = \bar{\Gamma}((0, x))$ ,  $\bar{\Gamma}((a, 0)) = (0, 0)$ . Now let  $\bar{\Gamma}$  is inner then

$\bar{\Gamma}((a, x)) = (a, x).\xi - \xi.(a, x)$  where  $\xi \in (I \oplus Y)^*$ . We have  $(\Gamma(x), 0) = \bar{\Gamma}((0, x)) = (0, x).\xi - \xi.(0, x)$  and

$$(0, 0) = \bar{\Gamma}((a, 0)) = (a, 0).\xi - \xi.(a, 0).$$

We define  $F : Y \longrightarrow \mathbb{C}$  by  $F(y) = \xi(0, y)$ . Since  $Y$  is a submodule of  $X$ , for  $y \in Y$  and  $a \in A$  we have  $ya, ay \in Y$  and  $(aF)(y) = F(ya)$ ,  $(Fa)(y) = F(ay)$  and hence  $aF, Fa$  are well-defined. Furthermore

$$\begin{aligned} (aF - Fa)(y) &= F(ya - ay) = \xi(0, ya - ay) \\ &= ((a, 0)\xi)(0, y) - (\xi(a, 0))(0, y) \\ &= 0, \end{aligned}$$

then  $aF - Fa = 0$  where  $a \in A$ . For every  $x \in X$  we have

$$(\Gamma(x), 0) = \bar{\Gamma}((0, x)) = (0, x).\xi - \xi.(0, x).$$

But  $\xi \in (I \oplus Y)^*$  and hence there exists  $u \in I^*$  and  $F \in Y^*$  such that  $\xi = (u, F)$ . Then we have

$$(\Gamma(x), 0) = \bar{\Gamma}((0, x)) = (0, x).(u, F) - (u, F).(0, x) = (xF - Fx, aF - Fa).$$

Therefore  $xF - Fx = \Gamma(x)$  for each  $x \in X$ . For converse, if such an element  $F$  exists, then

$$\bar{\Gamma}((a, x)) = (\Gamma(x), 0) = (xF - Fx, aF - Fa) = (a, x).(0, F) - (0, F).(a, x),$$

where  $\xi \in (I \oplus Y)^*$  and then  $\bar{\Gamma}$  is inner. ■

**Lemma 2.2.** Let  $D : A \longrightarrow Y^*$  be a continuous derivation. Then  $\bar{D} : (A \oplus X) \longrightarrow (I \oplus Y)^*$ , defined by  $\bar{D}((a, x)) = (0, D(a))$  is also a continuous derivation. Also we have

1. if  $\bar{D}$  is inner, then so is  $D$ ;
2. if  $D$  is inner, then there exists a continuous derivation  $\tilde{D} : (A \oplus X) \longrightarrow (I \oplus Y)^*$  satisfying  $\tilde{D}((a, 0)) = 0$   $a \in A$  and for which  $\bar{D} - \tilde{D}$  is inner.

**proof** Clearly  $\bar{D}$  is a continuous derivation. Let  $\bar{D}$  is inner then for some  $u \in I^*$  and  $F \in Y^*$  we have  $\bar{D}((a, x)) = (a, x).(u, F) - (u, F).(a, x)$  but

$$\begin{aligned} (0, D(a)) &= \bar{D}((a, 0)) = (a, 0).(u, F) - (u, F).(a, 0) \\ &= (au, aF) - (ua, Fa) = (au - ua, aF - Fa), \end{aligned}$$

and then  $D(a) = aF - Fa$  for  $F \in Y^*$  and  $D$  is inner. Now let  $D$  is inner. We have, there exists  $F \in Y^*$  such that  $D(a) = aF - Fa$  for  $a \in A$ . Let

$T : X \longrightarrow I^*$  be defined by  $T(x) = Fx - xF$   $x \in X$  ( $Fx$  and  $xF$  are well-defined because  $IX, XI \subseteq Y$ ) and  $\bar{T} : (A \oplus X) \longrightarrow (I \oplus Y)^*$  defined by  $\bar{T}((a, x)) = (T(x), 0)$   $(a, x) \in (A \oplus X)$ . Then

$$\begin{aligned} (\bar{D} - \bar{T})((a, x)) &= \bar{D}((a, x)) - \bar{T}((a, x)) \\ &= (0, D(a)) - (T(x), 0) \\ &= (xF - Fx, aF - Fa) \\ &= (a, x).(0, F) - (0, F).(a, x). \end{aligned}$$

Now let  $\tilde{D} = \bar{T}$ , then we have  $\tilde{D}((a, 0)) = \bar{T}((a, 0)) = (T(0), 0) = 0$ , and  $\bar{D} - \tilde{D}$  is inner.  $\blacksquare$

If  $D : A \longrightarrow I^*$  is a continuous derivation, we define  $\bar{D} : (A \oplus X) \longrightarrow (I \oplus Y)^*$  by  $\bar{D}((a, x)) = (D(a), 0)$ .

If  $T : X \longrightarrow Y^*$  is a continuous  $\mathcal{A}$ -bimodule morphism, we define  $\bar{T} : (A \oplus X) \longrightarrow (I \oplus Y)^*$  by  $\bar{T}((a, x)) = (0, T(x))$ .

If  $D : A \longrightarrow Y^{**}$  is a continuous derivation, we define  $\bar{D} : (A \oplus X) \longrightarrow (I \oplus Y)^{**}$  by  $\bar{D}((a, x)) = (0, D(a))$ .

If  $T : X \longrightarrow I^{**}$  is a continuous  $\mathcal{A}$ -bimodule morphism, we define  $\bar{T} : (A \oplus X) \longrightarrow (I \oplus Y)^{**}$  by  $\bar{T}((a, x)) = (T(x), 0)$ .

**Lemma 2.3.** The operators  $\bar{D}$  and  $\bar{T}$  defined above are continuous derivations. Furthermore, the derivation  $\bar{D}$  is inner if and only if  $D$  is inner, and  $\bar{T}$  is inner if and only if  $T = 0$ .

**proof** Let  $(a, x), (b, y) \in (A \oplus X)$ , we have

$$\begin{aligned} \bar{D}((a, x), (b, y)) &= \bar{D}((ab, ay + xb)) \\ &= (D(ab), 0) = (D(a)b + aD(b), 0) \\ &= (D(a), 0).(b, y) + (a, x).(D(b), 0) \\ &= \bar{D}((a, x)).(b, y) + (a, x).\bar{D}((b, y)). \end{aligned}$$

Then  $\bar{D}$  is a (continuous) derivation, and similarly for  $\bar{T}$ . Now let  $\bar{D}$  be inner, then there exists  $u \in I^*$  and  $F \in Y^*$  such that  $\bar{D}((a, x)) = (a, x).(u, F) - (u, F).(a, x)$ . In particular

$$\begin{aligned} (D(a), 0) &= \bar{D}((a, 0)) \\ &= (a, 0).(u, F) - (u, F).(a, 0) \\ &= (au - ua, aF - Fa), \end{aligned}$$

then  $D(a) = au - ua$  for  $u \in I^*$  i.e  $D$  is inner. For converse, let  $D$  is inner, then there exists  $u \in I^*$  such that  $D(a) = au - ua$  for  $a \in A$ . We have

$$\begin{aligned} \bar{D}((a, x)) &= (D(a), 0) = (au - ua, 0) \\ &= (a, x).(u, 0) - (u, 0).(a, x). \end{aligned}$$

By putting  $\xi = (u, 0) \in (I \oplus Y)^*$ ,  $\bar{D}((a, x)) = (a, x).\xi - \xi.(a, x)$  where  $\xi \in (I \oplus Y)^*$ . Thus  $\bar{D}$  is inner. Let  $\bar{T}$  is inner, then there exists  $u \in I^*$  and  $F \in Y^*$  such that

$$\bar{D}((a, x)) = (a, x).(u, F) - (u, F).(a, x).$$

In particular,

$$(0, T(x)) = \bar{T}((0, x)) = (0, x).(u, F) - (u, F).(0, x) = (xF - Fx, 0),$$

thus  $T = 0$ . The converse is evident, and a similar proof gives the rest. ■

**Theorem 2.4.**  $\mathcal{A} \oplus X$  is ideally amenable if and only if for arbitrary ideal  $I \oplus Y$  of  $\mathcal{A} \oplus X$  the following conditions hold:

1.  $\mathcal{A}$  is  $I$ -weakly amenable.
2.  $H^1(A, Y^*) = \{0\}$ .
3. For every continuous  $\mathcal{A}$ -bimodule morphism  $\Gamma : X \longrightarrow I^*$ , there exists  $F \in Y^*$  such that  $aF - Fa = 0$  for  $a \in A$  and  $\Gamma(x) = xF - Fx$  for  $x \in X$ .
4. The only continuous  $\mathcal{A}$ -bimodule morphism  $T : X \longrightarrow Y^*$  for which  $xT(y) + T(x)y = 0$  ( $x, y \in X$ ) in  $I^*$  is  $T = 0$ .

**proof** Let  $I \oplus Y$  be an arbitrary ideal of  $\mathcal{A} \oplus X$ . Denote by  $\Delta_1$  the projection from  $(I \oplus Y)^*$  onto  $I^*$  with kernel  $Y^*$ . Let  $\Delta_2$  be the projection  $id - \Delta_1 : (I \oplus Y)^* \longrightarrow Y^*$  and let  $\tau_1 : A \longrightarrow (A \oplus X)$  be the inclusion mapping (i.e.  $\tau_1(a) = (a, 0)$ ). Then  $\Delta_1, \Delta_2$  are  $\mathcal{A}$ -bimodule morphisms, and  $\tau_1$  is an algebra homomorphism. We now prove the sufficiency. Suppose that conditions 1-4 hold. Suppose also that  $D : (A \oplus X) \longrightarrow (I \oplus Y)^*$  is a continuous derivation. Then  $D \circ \tau_1 : A \longrightarrow (I \oplus Y)^*$  is a continuous derivation. This implies that  $\Delta_1 \circ D \circ \tau_1 : A \longrightarrow I^*$  and  $\Delta_2 \circ D \circ \tau_1 : A \longrightarrow Y^*$  are continuous derivations. By conditions 1 and 2, they are inner. Therefore,  $D \circ \tau_1$  is inner. From Lemmas 2.2 and 2.3, the mapping

$$\overline{D \circ \tau_1} = \overline{\Delta_1 \circ D \circ \tau_1} + \overline{\Delta_2 \circ D \circ \tau_1} : (A \oplus X) \longrightarrow (I \oplus Y)^*,$$

is a continuous derivation, and there is a continuous derivation  $\tilde{D} : (A \oplus X) \longrightarrow (I \oplus Y)^*$  satisfying  $\tilde{D}((a, 0)) = 0$  for  $a \in A$  and such that  $\overline{D \circ \tau_1} - \tilde{D}$  is inner. On the other hand,

$$(D - \overline{D \circ \tau_1})((a, 0)) = D((a, 0)) - \overline{D \circ \tau_1}((a, 0)) = D \circ \tau_1(a) - D \circ \tau_1(a) = 0.$$

Let  $\hat{D} = D - \overline{D \circ \tau_1} + \tilde{D}$ . Then  $\hat{D}$  is a continuous derivation from  $\mathcal{A} \oplus X$  into  $(I \oplus Y)^*$ , satisfying  $\hat{D}((a, 0)) = 0$  for  $a \in A$ . So,

$$\begin{aligned} \hat{D}((0, ax)) &= \hat{D}((a, 0).(0, x)) \\ &= (a, 0).\hat{D}((0, x)) \\ &= a.\hat{D}((0, x)) \quad (a \in A, x \in X), \end{aligned}$$

and  $\hat{D}((0, xa)) = \hat{D}((0, x)).a$  ( $a \in A, x \in X$ ). Denote by  $\tau_2 : X \longrightarrow A \oplus X$  the inclusion mapping given by  $\tau_2(x) = (0, x)$  ( $x \in X$ ). Then  $\hat{D}o\tau_2 : X \longrightarrow (I \oplus Y)^*$  is a continuous  $\mathcal{A}$ -bimodule morphism. From condition 3 there exists  $F \in Y^*$  for which  $\Delta_1o\hat{D}o\tau_2(x) = xF - Fx$  and  $aF - Fa = 0$  for  $x \in X, a \in A$ . Since

$$\begin{aligned} (0, 0) &= \hat{D}((0, 0)) = \hat{D}((0, x).(0, y)) \\ &= \hat{D}((0, x)).(0, y) + (0, x).\hat{D}((0, y)) \\ &= ([\Delta_2o\hat{D}o\tau_2(x)]y + x[\Delta_2o\hat{D}o\tau_2(y)], 0), \end{aligned}$$

we have  $(\Delta_2o\hat{D}o\tau_2(x))y + x(\Delta_2o\hat{D}o\tau_2(y)) = 0$  for every  $x, y \in X$ . From 4,  $\Delta_2o\hat{D}o\tau_2 = 0$ . Thus

$$\begin{aligned} \hat{D}((a, x)) &= \hat{D}((0, x)) = \hat{D}o\tau_2(x) \\ &= (\Delta_1o\hat{D}o\tau_2(x), \Delta_2o\hat{D}o\tau_2(x)) \\ &= (xF - Fx, 0) \\ &= (a, x).(0, F) - (0, F).(a, x). \end{aligned}$$

We have that  $\hat{D}$  is inner. Thus  $D = \hat{D} + (\overline{\hat{D}o\tau_1} - \tilde{D})$  is inner. This proves that  $\mathcal{A} \oplus X$  is ideally amenable. For the converse, let  $\mathcal{A} \oplus X$  is ideally amenable and let  $I \oplus Y$  is an arbitrary ideal of  $\mathcal{A} \oplus X$ . Then every continuous derivation from  $\mathcal{A} \oplus X$  into  $(I \oplus Y)^*$  is inner. Let  $D : A \longrightarrow I^*$  be a continuous derivation, then By lemmas 2.3,  $\bar{D} : A \oplus X \longrightarrow (I \oplus Y)^*$  defined by  $\bar{D}((a, x)) = (D(a), 0)$  is inner, and condition 1 hold. Let  $T : X \longrightarrow Y^*$  be a continuous  $A$ -bimodule morphism, then by lemma 2.3,  $\bar{T} : A \oplus X \longrightarrow (I \oplus Y)^*$  defined by  $\bar{T}((a, x)) = (0, T(x))$  is inner, and condition 2 hold. Now if  $\Gamma : X \longrightarrow I^*$  be an arbitrary continuous  $\mathcal{A}$ -bimodule morphism, by Lemma 2.1, there exists  $F \in Y^*$  such that  $aF - Fa = 0$   $a \in A$  and  $\Gamma(x) = xF - Fx$   $x \in X$ . This gives condition 3. If  $T : X \longrightarrow Y^*$  is a continuous  $\mathcal{A}$ -bimodule morphism for which  $xT(y) + T(x)y = 0$   $x, y \in X$  in  $I^*$ , then by lemma 2.3,  $T = 0$ . This gives condition 4 and the proof is complete. ■

**Acknowledgement.** The second and third authors would like to thank the University of Isfahan for its financial support.

## References

- [B-C-D] W. G. Bade, P. G. Curtis and H. G. Dales, *Amenability and weak amenability for Beurling and Lipschitz algebras*, Proc. London Math. Soc. (3) 55 (1987), 359-377.
- [D-Gh-G] H. G. Dales, F. Ghahramani and N. Gronbaek, *Derivations into iterated duals of Banach algebras*, Studia Math. 128(1998), 19-54.

- [D-Gh] M. Despic and F. Ghahramani, *Weak amenability of group algebras of locally compact groups*, *Canad. Math. Bull.* 37 (1994), 165-167.
- [E-H] M. Eshaghi Gordji and S. A. R. Hosseiniun, *Ideal amenability of Banach algebras on locally compact groups*, *proc. Indian Acad.Sci.* Vol. 115 No.3, (2005), 319-325.
- [E-M] M. Eshaghi Gordji and R. Memarbashi, *Derivations into  $n$ -th duals of ideals of Banach algebras*, Submitted.
- [G-Y] M. E. Gorgi and T. Yazdanpanah, *Derivations into duals of ideals of Banach algebras*, *proc. Indian Acad.Sci.* Vol. 114 No.4, (2004), 399-408.
- [Gr1] N. Gronbak, *A characterization of weakly amenable Banach algebras*, *Studia Math.* 94 (1989), 150-162.
- [Gr2] —, *Weak amenability of group algebras*, *Bull. London Math. Soc.* 23 (1991), 231-284.
- [Gr3] —, *Weak and cyclic amenable for non-commutative Banach algebras*, *Proc. Edinburg Math. Soc.* 35 (1992), 315-328.
- [He] A. Ya. Helemskii, *The homology of Banach and topological algebras*. Kluwer, (1989).
- [Jo1] B. E. Johnson, *Cohomology in Banach algebras*, *Mem. Amer. Math. Soc.* 127 (1972).
- [Jo2] —, *Permanent weak amenability of free groups*, *Bull. London Math. Soc.* 31 (1999), 569-573.
- [Jo3] —, *Weak amenability of group algebras*, *Bull. London Math. Soc.* 23 (1991), 281-284.
- [Ru] V. Runde, *Lectures on amenability*, Springer-Verlage Berlin Hedinberg New York,(2001).
- [Zh] Yong Zhang, *Weak amenability of module extensins of Banach algebras*,*Trans. Math. Soc.* vol. 354 No. 10, (2002), 4131-4151.

**Received: July 5, 2006**